OF PRECISION AND POWER.

SPECIFICATIONS: .

o

4-JAW SCROLL CHUCK PLAIN BACK,
_SOLID JAWS.

SPECIFICATIONS:

3-JAW SCROLL CHUCK PLAIN BACK,
_SOLID JAWS.

1.Interchangable utilization of internal and external hard jaws. 1.Gripping of square or octagonal workpieces could fit into central line automatically.
2.SC types feature economical and durable, suitable for mass production. 2.SIC have high stability in gripping thin tube work piece.
3.Gripping accuracy of 0.08mm (0.012inch) T.L.R.. 3.The specification is the same as SC type.
4.The body is made of MEEHANITE. It is suitably used for high speed revolution and 3 times more durable than regular chucks. 4.The body is made of MEEHANITE. It is suitably used for high speed revolution and 3 times more durable than regular chucks.
RPEFL
iy J Back Mounting
AL
J Back Mounting | /
I VA AR
1 | .
! 727 ' —
[ | e
|
P I = ©
o == S
| K\ 0) I g
/ \7/ \\(/ \ T ~
'~/ - N - \
\\// = | //i\// — B S / 1 LA ana A—‘ -
| | K wl O Ol <
L W 1 B
P ,., -—@ — {1 Y88s 8§ S
(I
- ~ ’l I
\ / Easaa
/ \V V
e @ . F F
\\ 1 ///
5 = _,/)fé\ = O (D
_ _ _ [ _ _ 1
_|_|30° £ e \l £ Z L 7 7 7 \J
B AL B N
SC-3~8C-12=31° \ Front Mountin HUSAfL
SC16=30° J SC-3~SC-12=31° Front Mounting
SC-16=30°
SPECIFICATIONS: UNIT:mm
SC-3 |86 |46 |60 73|16 4 | 3M6 | 3Mex50 36| 11 15 | 7 | 3.0 900 — 17 | 3500 | 52070 | 024.064 SPECIFICATIONS: UNIT:mm
SC-4 112 |60 | 80 | 95| 24 | 48 | 3-M8| 3-M8x70 |42 | 14 | 166 | 8 4.5 1200 = 3.7 2500 @ 3-095 229.0 84 _ = : = _
SC-5 132 (60 [100(115| 32 | 48 3-MB 3-M8x70 50 | 16 1| 203 | 8 6.5 1500 0.01 52 2500 232110 2332100
SC-6 167 | 67 | 130|147 | 45 | 5.5 | 3-M10| 3-M10x70 | 63 | 19 | 237 | 10 9.0 3300 0.03 9.3 4000 | o4-2160 | ©48-2150 odel ™ (kgf-m) - ) r-p-m.) | 0.D. rang .D. ranc
SC-7 192 (765 | 155 172 | 58 | 55  3-M10| 3-M10x80 | 77 | 21.5 | 204 | 11 11.0 3600 0.06 14.2 3500 | @4-2180 = @56-2170 SIC-7 192 (765|155 | 172 | 58 | 55 |3Mi0| — |77 |21.5|294 11 11.0 3600 0.06 148 300 | 242180 | 256-2170
SC-8 200 |76.5 | 160|176 | 58 | 5.5 | 3-M10| 3-M10x80 77 |21.5| 294 | 11 11.0 3600 0.07 16 3200 &4-a190 2 62-2180 0 = o o = e P S
SC-9  |232|84 [190]210| 70 | 6 |aM12 3M2u90 87 | 24 356|12 | 150 | 3900 | 015 27 | 2000 | 05020 | 062-2210 1[I IR ) e R e S A e oL S [ ' ' 8 .
SC-10 273 | 87 |230(250 | 89 | 8 |3-M12| 3-M12x90 1 98 | 28 | 39.5 | 12 19.5 4800 0.25 31.8 2500 @ 6-a260 270- 2250 SIC-12 310 | 96 | 260 | 285 | 105 | 7 |3Mi2 — |110] 30 456 14 1.0 5100 058 47 2900 210-2300 286- 2290
SC-12 | 310 |96 |260(285|105| 7 | 3-M12|3-Mi12x110 110 | 30 | 456 | 14 21.0 5100 0.58 448 2200 210-2300 2 86- 2290
SC-16 | 405 122 |345/375| 160 | 87 | — | 6-M14x130 146| 42 | 563 | 15 | 23.0 4500 175 102 | 1500 | 2302380 @ o110-0360 SIC-16  [405 | 122 | 345 375|160 87 | — | GMI&30 146 42 563 15| 230 4500 172 107 1500 | 230-0380 | o110-2360




INGHOLD OF PRECISION AND POWER.

AENET

SPECIFICATIONS: e

3-JAW STRONG SCROLL CHUCK
_PLAIN BACK, 2-PIECE JAWS.

1.SK types chucks have wider unilization range; hard jaws suitable for heavy
cutting; soft jaws suitable for light and precision cutting.

2.Hard jaws could be used as internal jaws and external jaws.

3.Gripping accuracy of 0.08mm (0.012 inch) T.I.R.

4.The body is made of MEEHANITE. It is suitably used for high speed
revolution and 3 times more durable than regular chucks.

PREfL
J Back Mounting
/I\ | . I/ 7 Pa
=
| I QO
T
TR
@" I I -
K
Ty [ w o] al <
i Q8 9 &

B ABATL
SK-6~SK-12=31° Front Mounting
SK-16=30°
SPECIFICATIONS: UNIT:mm

SPECIFICATIONS:

4-JAW STRONG SCROLL CHUCK
_PLAIN BACK, 2-PIECE JAWS.

1.Hard jaws are adopted for square for square or octagonal thin tube workpieces

machining.
2.Soft jaws could grip rectangular workpiece after being unisotropic machined.

3.The specification is the same as SK type.

4.The body is made of MEEHANITE. It is suitably used for high speed

revolution and 3 times more durable than regular chucks.

SIK-7~SIK-12=30°

P
R

D

1)

BYERs

©

SIK-16=15°

SK-6

167

SO0

9.0

3300

0.03

4000

@4-160

55 211

SPECIFICATIONS:

67 | 130 147 | 45 |55 3-M1D 72 126 | 402 10 9
SK-7 192 | 76.5 | 155 | 172 | 58 |55 | 3-M10| 3Mi080| 81.2| 28 | 42 | 11 1.0 3600 0.06 13.8 3500 84180 wb2- 170
SK-8 200 | 76.5 | 160 | 176 | 58 | 5.5 3-M10| 3080 82 | 28 | 42 | 11 1.0 3600 0.07 15.5 3200 82190 268 5180
SK-9 232 | 84 | 190 | 210 | 70 | 6 |3-M12| 3M100| 90.9| 32 | 51.2| 12 15.0 3900 0.16 22 2900 211-2220 210- 210
SK-10 | 273 | 87 | 230 | 250 | 89 | 8 |3-M12| 3Mi280| 100.5| 35 | 56.7| 12 195 4800 0.26 29.7 2500 212-2260 | o80- 2250
SK-12 | 310 | 96 | 260 | 285 | 105 | 7 |3-M12|3Mi2if0| 1145 40 | 56.8| 14 21.0 5100 0.58 435 2200 2152300 | 290- 2290
SK-16 | 405 | 122 | 345 | 375 | 160 8.7  — |6M&i30 148.6) 50 | 76.1| 15 23.0 4500 1.72 98 1500 2302380 | =110- 2360

SIK-7

192

bl

172

L)

e

/
(€r-

2

3M10

82

f
/
/

42

11.0

TREEFL
Back Mounting

3600

0.06

©)
P L w ol a <
ISUIRSTER STRR S
71K
/ °
/_
_ ]
J
7_\
ALl
Front Mounting

UNIT:mm

3500

o8- &180

@62- 2170

765 | 155 58 | 5.5 — 28 11 14.1
SIK-9 232 | 84 | 190 | 210 | 70 M2 — | 96 |32 512] 12 15.0 3900 0.16 222 2900 oll-2220 | &70- @210
SIK-12 310 | 96 | 260 | 285 | 105 3M2| — |1145|40|56.8| 14 21.0 5100 0.58 45 2200 215-2300 | 290- 2290
SIK-16 405 | 122 | 345 | 375 | 160 | 8.7 | — |6M430|148.6| 50 | 76.1 | 15 23.0 4500 1.72 108 1500 230-2380 | ©110-2360




ONGHOLD OF PRECISION AND POWER.

(ASA spindle nose D1-4, D1-5, D1-6, D1-8)
American standard camlock type with 2-piece reversible hard top jaws.

1.Gripping accuracy of 0.03mm(0.0012inch)T..R.
2.Standard accessories A chuck wrench and hex. key. One set of mounting bolts.(UNC-bolts)
3.The body is made of MEEHANITE.It is suitably used for high speed revolution and 3 times more durable than regular chucks.

SPECIFICATIONS:

3-JAW STRONG SCROLL CHUCKS
D1 CAMLOCK DIRECT MOUNTING,

_2-PIECE JAWS

@F1
@F4
DA

(ASA spindle nose A1-5, A1-6)
American standard camlock type with 2-piece reversible hard top jaws.
1.Gripping accuracy of 0.03mm(0.0012inch)T.I.R.
2.Standard accessories A chuck wrench and hex. key. One set of mounting bolts.(UNC-bolts)
3.The body is made of MEEHANITE.It is suitably used for high speed revolution and 3 times more durable than regular chucks.

SPECIFICATIONS:

3-JAW STRONG SCROLL CHUCKS

A1 DIRECT MOUNTING, 2-PIECE JAWS

SPECIFICATIONS: UNIT:mm
Mounting .
: g Allowable | ~ Moment Gripping Range
Om | spnde | o & £ L b g K Omensone [‘Harde” CopnoGics weign Max,
. orque -
Model g Fi |F2 F3| F4 | (kgt'm) = (69D | (kg-m2) GElied el e
KD4-6" D1-4 165 72 | 46 | 10 | 72 | 26 | 39 | 63.513 | 13 |15.8| 82.55 9.0 3300 0.04 11 4000 @8- @160 | @55- @150
KD4-8" D1-4 200|772 53 | 11 | 82 | 28 |42.2 63513 | 13 |15.8 | 82.55 1.5 3600 0.07 185 3200 28- 2180 | @62- 2170
KD5-8" D15 200 772| 85 | 11 | 82 | 28 (422 82563 | 16 | 19 |10478] 115 3600 0.07 18 3200 28- 2180 | 262- 2170
KD6-8" D16 200 /772| 58 | 11 | 82 | 28 (422 106.375| 17 |222|133.35| 115 3600 0.07 17 3200 28- 2180 | @62-2170
KD&-10" D1-6 250 86 | 76 | 12 |90.9| 32 |50.8 106.375| 17 |22.2|133.35| 195 4800 0.2 29.5 2500 211- 2220 | 270- 8210
KD6-12" D1-6 306 |107.5| 103 | 14 |114.5| 40 |57.8 |106.375| 13.5|22.2|133.35| 21.0 5100 0.5 47 2200 215- 2300 | @90- @290
KD8-10" Di-8 250 86 | 80 | 12 909 | 32 |50.8 139.719| 19 254 |171.45| 195 4800 0.2 27 2500 211- 2220 | 270- 2210
KD8-12" D1-8 306 [107.5 103 | 14 1145 40 |57.8 |139.719| 18 |254[17145] 21.0 5100 0.5 47 2200 215- 2300 | 290- 2290

J
/-!-\ WW%L ]
=
e
|
I o N-[/ | ]
I :
TR A -
v ey I
| __ L1 1
i A A l —————— e
> 1 w1 T <
Q2 [l Q| &
F3 !
NI L
t — - *H—i*
Ny —— — — — — S| |
1l
B
SPECIFICATIONS: UNIT:mm
Mounting ; -
i i Allowable | - . Moment Gripping Range
Dim Spindle Daensiare Handle Gripping | of Inertia| Weight SMax.
sza || B E[LIH I KT T rs| Towe | 22 (T ) ) | B8 op [ ip,
Model . (kgf-m) 9 (kg-m?) P-MJ 1 range | range
KA5-8" A1-5 | 200 | 772 |40 |11 | 812 | 28 | 42.2 | 82.563 |14.288| 3M10| 61.9 1.0 3600 0.07 18 3200 |28 =180 =62-2170
KAB-8" A16 200 | 772 (53 |11 | 81.2 | 28 | 42.2 |106.375/15.878| 3-M12| 82.5 11.0 3600 0.07 18 3200 | @8 =180| =62-2170
KAB-10" A1-6 | 250 | 86 |53 |12 | 909 | 32 |50.8 [106.375|15.875| 3-M12| 82.5 19.0 4800 0.2 295 2500 | @11-2220| =70-2210
KAB-12" A-1-6 | 306 |107.5 | 53 | 14 | 114.5 | 40 | 57.8 |106.375/15.875| 3-M12| 82.5 21.0 5100 0.5 47 2200 | =#15-2300] 290-2290
KA8-12" A-1-8 | 306 |107.5 | 77 | 14 | 114.5 | 40 | 57.8 |139.719 | 17.46 | 6:M16 ) 111.1 21.0 5100 0.5 47 2200 | 215-2300| =90-2290




'F PRECISION AND POWER.

SPECIFICATIONS: ;j;
6-JAW SCROLL CHUCK PLAIN BANK

1.SE types are specially suit for drilling*endmilling*tapping or grinding in tool
grinders.

2.Huge bore diameter design for wider application of bar workpieces.

3.SE type feature gripping for thin tube and high roundness accuracy.

4.The body is made of MEEHANITE.It is suitably used for high speed revolution
and 3 times more durable than regular chucks.

@D
DA

SPECIFICATIONS: UNIT:mm
SE-4 112 66 80 95 32 48 | 3-M8| 45 14 39.7 8 30 6.5 4 2500 @ 2-532
SE-6 165 | 67 | 130 | 147 | 51 | 55 | 3-M8| 665 | 19 |407 | 10 | 233 | 6.2 9 2000 #3-251
SE-7 192 76.5 155 172 80 5.5 | 3-M10| 77 215 | 615 1 24 53 14 2000 23-281

SPECIFICATIONS:
SOFT JAWS FOR STRONG

_SCROLL CHUCKS
1.Soft jaws for strong scroll chuck.
2.Manufactured in special specification.
- C-1
C-4 . G5 . G2

-+ T
_]

C-8

C-3
"ﬁ
I
I
b
C-13

]

r

Bad
®

C-7 C-10
C-6

@)
©
C-12

SPECIFICATIONS: UNIT:mm

SKC06 73 26 | 37 | 38 |175| 14 | 85 | 27 | M8 |1268|7.94| 3 | 3.5 SK-6, KD-6" 1.5
SKC07 95 31 48 | 44.5|25.25| 17 | 11 | 35 | M10 |12.68| 7.94| 3 | 3.5 SK-7, SK-8, KD-8", KA-8" 2.7
SKC09 110 | 37 | 48 | 54 | 28 | 19 | 13 | 34 | M12 |19.03| 127| 3 | 3.5 | SK-9, SK-10, KD-10",KA-10" 3.7
SKC12 125 | 40 | 54 | 63.5|30.75| 19 | 13 [40.5| M12 |19.03| 12.7| 3 | 35 SK-12, KD-12", KA-12" 4.9
SKC16 160 | 50 | 70 |76.2|419| 25 | 17 | 48 | M16 |19.03| 127| 6 | 3.5 SK-16 11




D OF PRECISION AND POWER.

HEPSN-205~N-218 Serration Pitch 1.5
HEEEN-220~N-224 Serration Pitch 3.0

SPECIFICATIONS:

3-JAW WEDGE TYPE THROUGT-I-HOLE
\POWER CHUCK ( WITH ADAPTOR )

(%

1.More large bore: Having the largest bore in wede type
power operated chucks.

2.Model N-200A chucks are assembled with adaptor for
ASA B5.9 type A spindles.

r%-
el g

120°x3pcs : N-205
15° : N-206~N-218
30° : N-220~N-224

SPECIFICATIONS:

26.5 (19.75/775 | 16 | 6 10| 20 | 25/ M40x1.5| 3-M6 | 45| 31|54 | Fig-1

N-205A4 | N3 | 10 | 54 | 1784 | a67d 2865 | 7000 | 78 | 0020 | Mi036  HJO5 | HCO5 o6~ o135 Nstais J1851 71 [110) W1o) 85508 | 46 | &250 1910 &5 |4 2

N-205A5 | N3 | 10 | 54 | 1784 | 3671 285 | 7000 | 9 0023 | M1036 HJO5 HCO5S | 6~ 2135 N-205A5 |135|88 | 110 | 14|32 | 82.563 | 82.55 104.78| 14 |3-M10| 33 | 4 265 19.757.75 | 33 | 23| 2 10| 20 | 25 M40x1.5| 6-M10| 45 31|54 Fig-3
N-206A5 | M5 | 12 | 55 | 2243 | 5812 | 285 | 6000 | 147 | 0062 | Mi246 HJ06 HCO6 | o15-2169 N-206A5 | 169|91 140 |20 15| 82563 | 116 |104.78| 16 |6-M10 45 |5 32 |22.75 9.25 | 26 | 14| 2|12| 19 |31 M55x2 | 3-M6 | 60 37|73 Fig-1
N-206A6 | M5 | 12 | 55 | 2043 | 5812 | 285 | 6000 | 173 | 0073 | Mi2s6 HI06 HCOB | 2152168 N-206A6 | 169|111 140 |20 35| 106.375104.78 133.35| 16 |6-M10| 45 |5 32 [22.759.25 | 46 | 34| 2|12| 19 [31 Ms5x2 | 6-M12| 60 37|73 Fig3
N-208A5 | Ns2 | 16 | 74 | 3558 | 9075 | 265 | 5000 | 258 | 0190 | Mi552 HJ08 HCOB | #20~a210 N-208A5 | 210|109 170 | 25|23 | 82.563 |133.35104.78| 13 |6-M12 52 | 5| 38.7 |20.75/14.75| 37.5(21.5 2 | 14| 20.5/ 35 M6Ox2 | 6-M10| 66 38|95 Fig2
N-208A6 | N2 | 16 | 74 | 3558 | 9075 | 265 | 5000 | 25 0184 | Mis52 HJ08 HCO8 | ©20~2210 N-208A6 | 210|103 170 | 2517 106.375 150 |133.35| 18 |6-M12 52 |5 38.7 |20.7514.75 31.5/15.5 2| 14|20.5/35 M60x2 | 3-M6 | 66 38|95 Fig-1
N-208A8 | N2 | 16 | 74 | 3558 | 9075 | 265 | 5000 | 203 | 0217 | Mis52 HJ08 HCOB | 220~a210 N-208A8 | 210126170 | 25|40 |130.719]133.35 171.45 16 |6-M12| 52 | 5 | 38.7 |20.7514.75| 54.5|38.5 2 | 14|20.5/ 35 M60x2 | 6-M16| 66 38|95 Fig-3
N-210A6 | N75 | 19 | 88 | 435 | 1319 | 275 | 4200 | 4 0370 | wmia7s HJ10 HC10 | 225-0254 N-210A6 | 254|120 220 |30 25| 106.375 171.45/133.35| 18 |6-M16| 75 | 5 51 [33.7514.2533.5/14.5 2 |16| 25 |40 MB5x2 | 6-M12| 9443|110 Fig2
N210A8 | N75 | 19 | 88 | 4385 | 319 | 275 | 4200 | 38 0340 | M1875 HJ10 HC10 | 5252254 N-210A8 | 254|113 /220 |30(18|130.719| 190 |171.45/24 |6-M16| 75 |5 51 |33.7514.25/265| 7.5| 2 16| 25 |40 M85x2 | 3-M8 | 94 43 |110| Fig-1
N-210AT | N75 | 19 | 88 | 4385 | 11319 | 275 | 4200 | 484 | 0436 | M85 HU10 HC10 | 2255254 N-210A11 | 254|145 /220 |30 |50 [196.869|171.45 235 |22 |6-M16| 75 | 5 51 |33.75/14.25) 58,5395 2 | 16| 25 | 40| M85x2 | 6-M20| 9443|110 Fig-3
N-212a6 | Mot | 23 | 106 | se12 | 1400 | 275 | 3300 | 625 | 0809 | M2o91 HJ12 HC12 | 530~2304 N-212A6 | 304|129 220 |30 25 106.375/171.45 133.35| 18 |6-M16 91 | 6 | 61.3 |45.75/15.75 33 | 10| 2 21| 28 | 50 M100x2 | 6-M12|108 51|130 Fig2
N-212A8 | M1 | 23 | 106 | ssi2 | 1490 | 275 | 3300 | 595 | 0770 | M2og1 HJ12 HC12 | 530~2304 N-212A8 | 304|122|220 |30 |18 |139.719| 190 |171.45| 25 |6-M16 91 | 6 | 61.3 |45.75/15.75| 26 | 3 | 2 21| 28 |50 M100x2| 3-M8 |108| 51|130 Fig-1
N-212a11 | Nt | 23 | 106 | 5812 | 1490 | 275 | 3300 | 699 | 0912 | M2ogt Hif2 HC12 | 230~a%04 N-212A11 | 304|154 220 |30 50 |196.869|171.45 235 |22 |6-M16 91 | 6 | 61.3 |45.75/15.75 58 | 35| 2 21| 28 | 50 M100x2 | 6-M20|108 51|10 Fig-3
N-215A8 | N175 | 23 | 106 | 7240 | 1835 | 235 | 2500 | 125 | 2255 | M5t HJ15 HC15 | 260~o381 N-215A8 | 381|160 300 4333 139.719| 235 |171.45| 24 |6-M20|117.5) 6 82 |45.2516.75| 40 | 17| 5|22| 43 |62 M130x2| 6-M16|139| 66 165 Fig-2
N-215A11 | NH75 | 23 | 106 | 7240 | 18385 | 235 | 2500 | 118 0 041 o M5 VT E— N-215A11 | 381|149 300 | 43|22 196.869) 260 | 235 |28|6-M20117.5| 6 82 |45.2516.75| 29 | 6 | 5|22| 43 |62 M130x2| 3-M10|139 66 |165 Fig-1
N215A15 | N175 | 23 | 106 | 7240 | 1835 | 235 | 2500 | 138 | 2822 | M5t HU15 HC15 | 260~o381 N-215A15 | 381|184 300 | 43|57 |285.775 235 | 330.2 | 24 |6-M20|117.5 6 82 |45.25/16.75| 64 | 41 |5 22| 43 | 62| M130x2| 6-M24 | 139| 66 165 Fig-3
N-218A8 | N175 | 23 | 106 | 7240 | 1835 | 235 | 2000 | 178 | 4830 | M5t 15 HC15 | £60~2450 N-218A8 | 450|160 300 4333 139.719| 235 |171.45| 24 |6-M20|117.5/ 6 82 |79.7516.75| 40 522 43 |62 M130x2| 6-M16|139) 66165 Fig-2
N218AH | N175 | 23 | 106 | 7240 | 18355 | 285 | 2000 | 174 it | Mot HUT5 HC15 | 260~2450 N-218A11 | 450|149 300 | 43|22 196.869) 260 | 235 |28 |6-M20117.5| 6 82 |79.7516.75| 29 | 6 | 5|22| 43 |62 M130x2| 3-M10|139| 66 |165 Fig-1
N-218A15 | N1175 | 23 | 106 | 7240 | 1ssss | 235 | 2000 | 191 6183 | s 15 HC1S | o60-2450 N-218A15 | 450|184 300 |43 |57 |285.775) 235 | 330.2 | 24 |6-M20 117.5| 6 | 82 |79.75/16.75 64 | 41| 5 22| 43 |62 M130x2 | 6-M24 139 66|165 Fig-3
N-220A1 | N80 | 23 | 106 | 9177 | 23861 | 305 | 1800 | 215 | 7355 | MLosie HU24-1 HC241 | 2120~2510 N-220A11 | 510|169 380 |60 |41 [196.869| 330.2| 235 |30 |6-M24| 180 | 6 112.5) 69 | 23 | 52 | 29| 5 25| 38 | 65 M190x2| 6-M20|206) 73 180 Fig-2
N-220A15 | N80 | 23 | 106 | 9177 | 23881 | 305 | 1800 | 202 | 6910 | ML2si6 HU24-1 HC241 | 2120~2510 N-220A15 | 510|155 380 | 60|27 | 285.775 330.2| 330.2 | 33 |6-M24 180 | 6 1125| 69 | 23 | 38 | 15| 5|25| 38 |65 M190x2 | 3-M12|206 73|180 Fig-1
N-224A11 | N205 | 26 | 12 | o177 | 23881 | 205 | 1400 | 332 | 18199 | ML3a20 Hu24-1 HC241 | 2150~2610 N-224A11 | 610|186 520 |60 45 196.869 | 463.6| 235 |28 |6-M24) 205 | 6 139.9| 87.5 245 | 61 | 35|5|25| 38 |65 M215x3 | 6-M20|230 73|180 Fig-2
N-224A15 | pe0s | 26 | 12 | o177 | 238e1 | 305 | 1400 | 317 | 17376 | ML3320 HU24-1 HC241 | 51502610 N-224A15 | 610|183 520 |60 |42 | 285.775 463.6| 330.2 | 33 |6-M24 205 | 6 |139.9|87.5 24.5 | 58 | 32| 5 25| 38 | 65 M215x3 | 6-M24|230 73|180 Fig-2
N224A20 | N205 | 26 | 12 | 9177 | 23861 | 305 | 1400 | 286 | 15677 | ML3320 H124-1 HC241 | 2150-2610 N-224A20 | 610|166 520 | 60 25 |412.775| 463.6 | 463.6 | 35 |6-M24| 205 6 139.9| 87.5 245 | 41 | 15|5 25| 38 | 65 M215x3| 3-M10|230 73 180 Fig-1




1.More large bore
2.Highest revolution

st

SPECIFICATIONS:

10

1JF PRECISION AND POWER.

SPECIFICATIONS:

3-JAW WEDGE TYPE THROUG
|POWER CHUCK ( WITHOUT ADAPTOR )

H-HOLE

HEE%N-204~N-218 Serration Pitch 1.5
HEP5N-220~N-224 Serration Pitch 3.0

DA
PC(H8)

8000

0.007

i
?

120°x3pcs : N-204,N-205
15° : N-206~N-218
30" : N-220~N-224

30°

24~ 2110

N-204 5.4 1428 2906 31.6 4 M0928 | HCO04 | HJOS
N-205 | N33 10 5.4 1784 3671 28.5 7000 7 0.018 | M1036 | HCO05 | HJO5 |6~ 5135
N-206 | M5 12 55 2243 5812 28.5 6000 | 135 | 0.057 | M1246 | HC06 | HJ06 | &15~&169
N-208 | Ns2 16 7.4 3558 9075 26.5 5000 | 28 0.17 | M1552 | HC08 | HJ08 |20~2210
N-210 | N75 19 8.8 4385 11319 27.5 4200 | 35 0315 | M1875 | HC10 HJ10 |225~2254
N-212 | Not 23 | 106 5812 14990 275 3300 | 565 | 0737 | M2091 | HCi12 | HJ12 |230~2304
N-215 | N175 | 23 | 106 7240 18355 235 2500 | 111 227 | M2511 | HC15 | HJ15 |260~5381
N-218 | N175 | 23 | 10.6 7240 18355 23,5 2000 | 164 | 4.45 | M2511 | HC15 | HJ15 |260~2450
N-220 | N180 | 23 | 106 9177 23861 30.5 1800 | 190 6.5 | ML2816 | HC24-1 | HJ24-1 |5120~2510
N-224 | N05 | 26 12 9177 23861 305 1400 | 270 | 148 | ML3320 | HC24-1 | HJ24-1 |5150~2610
DIMENSIONS:
N-204 |110 59 85|14 70.6 16| 3-Mi0x60 | 26 |4 23.2 13.75/6.75 35 -65|2 |10 17.5 23 |M32x1.5 | 38 | 24 |49.5
N-205 (135 60 110| 14 | 8255 15| 3-M10x60 33 | 4|26.5(19.75 775 1 -9 |2 |10 20 25 M40x1.5| 45 31 | 54
N-206 [169| 81 |140| 20 104.78 16 | 6-M10x80 | 45 |5 32 2275925 11 | -1 |2|12 19 |31 | M55x2 | 60 | 37 | 73
N-208 [210| 91 |170| 25 133.35 20 | 6-M12x90 | 52 | 5 38.7 | 29.75/14.75 14.5 -1.5 |2 |14 205 35 | M60x2 | 66 | 38 | 95
N-210 [254 100 220|30 171.45 22 | 6-M16x100 | 75 | 5| 51 33.75/14.25 8.5 -10.5(2 |16 | 25 40 | M85x2 | 94 43 | 110
N-212 (304 110 220|30 171.45 23 | 6-Mi6x110 91 | 6|61.3 |45.75/15.75 8 | -15 |2 |21 | 28 50  M100x2 | 108 | 51 | 130
N-215 (381 133 300|43 235 35| 6-M20x135 1175 6| 82 |45.25/16.75 -16 |5 |22 43 62 | M130x2 | 139 | 66 | 165
N-218 [450 133 300|43 235 |35 | 6-M20x135 1175 6| 82 |79.7516.75 -16 |5 |22 43 62 | M130x2 | 139 | 66 | 165
N-220 (510 134 380|60  330.2 35| 6-M24x135 180 6 (1125 69 | 23 |11  -12 |5 |25 38 65  M190x2 | 206 73 | 180
N-224 |610 147 | 520| 60 | 463.6 |35 | 6-M24x150 | 205 | 6 [139.9 87.5|24.5 |16  -10 |5 |25 | 38 | 65 | M215x3 | 230 73 | 180

SPECIFICATIONS:

2-JAW WEDGE TYPE THROUGH-HOLE
\POWER CHUCK ( WITHOUT ADAPTOR)

1.All sliding surfaces are hardened and ground for accurate actual running and long
service repeatability. Lubrication nipple in each base jaw.

2.Base jaw:1.5mmx60° serrtion.

3.Mounting:Adaptor mounting to fit with DIN, 1SO, BS, ASA B5.9 type A spindles.

HE#5 Serration Pitch 1.5

NT-205

A

DA
@C(HB6)

SPECIFICATIONS:

NT-205 N33 10 5.4 1189 2447 19.5 7000 6.8 0.017 | M1036 HJ05 HCO05 @ 6~ 5135

NT-206 N45 12 5.5 1495 3875 18.9 6000 128 | 0.054 | M1246 HJ06 HCO06 215~ 2169

NT-208 N&2 16 7.4 2366 5975 18.4 5000 22 0.163 | M1552 HJ08 HCo08 220~ 2210

NT-210 N75 19 8.8 2927 7546 18.4 4200 34 0.306 | M1875 HJ10 HC10 225~ 254

NT-212 N91 23 10.6 3875 9789 18.4 3300 55 0.717 | M2091 HJ12 HC12 230~ 304

NT-215 | N117.5 23 10.6 4823 12236 15.3 2500 106 217 | M2511 HJ15 HC15 260~ 2 381
DIMENSIONS:

NT-205 [ 135| 60 | 110 | 14 = 8255 15 4-M10x60 | 33 265 (1975 | 7.75| 1 -9 10 | 20 | 23 | M40x1.5| 45| 31 | 54
NT-206 | 169 | 81 | 140 | 20 |104.78 16 6-M10x80 | 45 32 (2275 925 | 11 | - 12 | 19 | 31 | M55x2 | 60 37 | 73
NT-208 [ 210 | 91 170 | 25 133.35 20 6-M12x90 | 52 38.7 | 29.75 | 1475 | 145 -15 14 120.5| 35 M60x2 | 66 38 | 95
NT-210 | 254 | 100 | 220 | 30 171.45 | 22 | 6-M16x100 | 75 51 |33.75 |14.25 | 85 |-10.5 16 | 25 | 40 | M85x2 | 94 | 43 | 110
NT-212 | 304 | 110 1 220 | 30 171.45 23 6-M16x110 | 9f 613 4575 |16.75| 8 | -15 21 | 28 | 50 A M100x2 |108| 51 |130
NT-215 | 381 | 133 | 300 | 43 | 235 | 35| 6-M20x135 | 117.5 82 4525|1675 | 7 | -16 22 | 43 | 62 | M130x2 | 139/ 66 | 165

(o> BN = > T & L I & 1 B I & 1 I N =
NN N NN




" PRECISION AND POWER.

SPECIFICATIONS:

4-JAW WEDGE TYPE THROU\GH HOLE
POWER CHUCK ( WITHOUT ADAPTOR))

SPECIFICATIONS: <

2 JAWS AND 3 JAWS THROUGH HOLE
POWER CHUCKS ( WITH ADAPTOR )

1.All sliding surfaces are hardened and ground for accurate actual running and long 1.Gripping of round or irregular workpiece does not need to change the chuck.
service repeatability. Lubrication nipple in each master jaw. 2.The chucks are designed according to ASA B5.9 type A spindle.

2.Master jaw:1.5mmx60° serrtion. 3.The chucks are made from hight grade alloy steel. All siding surfaces are hardened

3.Mounting:Adaptor mounting to fit with DIN, ISO, BS, ASA B5.9 type A spindles. and ground for increased running accuracy and longer service life.

HEEE Serration Pitch 1.5

| X v
. -
I8

HE#5 Serration Pitch 1.5

=gk

0O
1 > X
" O
- Z T =
<| £ : or ?E_F
S| O o
R
]
U
3 g8 83 H
Fig-2 S .

i
ik
T
b
]
s
K
l.—-l
|
|

@G
@H
K | V
L—
L
| A”Ei

SPECIFICATIONS: l
hrough- E M
-] (mm) | ) . ’ kgf/cm?) 9] 1(kg- m?) (mm) J B E
NIT-206 | 45 12 55 2243 5812 28.5 4500 | 13.7 | 0.051 M1246 | HJO6 HC06 |=15~2169 J B
NIT-208 | 52 16 7.4 3558 9075 26.5 3600 24 0177 | M1552 | HJ08 HC08 |220~2210
NIT-210 | 75 19 8.8 4385 11319 27.5 3200 36 0.324 | M1875 | HJ10 HC10 |z25~2254
NIT-212 | 9 23 10.6 5812 14990 275 2700 | 58.5 | 0.763 | M2091 | HJi2 HC12 | 230~ =304
NIT-215 | 117.5 23 10.6 7240 18355 23.5 1900 | 114 2.331 M2511 | HJ15 HC15 |260~2381
NIT-218 IR Lli7S 23 10.6 7240 18355 23.5 1500 | 122 3.2 M2511 | HJ15 HC15 |60~2450 SPECIFICATIONS:
NIT-224 | 205 26 12 9177 23861 30.5 1000 | 264 14.5 M3320 | HJ24-1 | HC24-1 |2150~2610 Througt
DIMENSIONS: | om) | om) | w3 aw | 2 Jaw | 3 Jaw |2 Jaw | 3daw | 2Jaw | ) | (o) | |
NHT208A5 52 16 7.4 2243 | 1495 | 5812 | 3875 | 17.2 12.1 3500 25.5 M1552 HCO06 HJ06
NHT208A6 52 16 7.4 2243 | 1495 | 5812 | 3875 | 17.2 12.1 3500 24.7 M1552 HC06 HJ06
NIT-206 | 169 | 81 | 140 | 20 | 104.78 | 16 | 4-M10x80 45 32 | 2275|925 | 11 -1 12| 19 | 31 | M55x2 |60 | 37 | 73
NIT-208 | 210| 91 | 170 | 25 [133.35| 20 | 4-M12x90 | 52 38.7 | 29.75 | 14.75 | 14.5| -1.5 14 1 20.5| 35 | M60x2 |66 | 38 | 95 DIMENSIONS:

NIT-210 | 254 | 100 | 220 | 30 | 171.45| 22 | 4-M16x100 | 75
NIT-212 | 304 | 110 | 220 | 30 | 171.45| 23 | 4-M16x110 | 91
NIT-215 | 381| 133 | 300 | 43 | 235 | 35| 4-M20x135 | 117.5
NIT-218 | 450 | 133 | 300 | 43 | 235 | 35| 4-M20x135 | 117.5
NIT-224 | 610| 147 | 520 | 60 | 463.6 | 35 | 8-M24x150 | 205

51 [33.75 1425 | 8.5 |-10.5
61.3 | 4575 |1575| 8 | -15

82 [4525(1675| 7 | -16

82 |79.75 (1675 | 7 | -16
139.9| 875 | 245 | 16 | -10

21 | 28 | 50 | M100x2 (108 | 51 {130
20 | 43 | g2 | M130x2 |139/ 66 | 165 NHT-208A5(210({113|170| 20 23 | 82.563|133.5 104.78 |13 |6xM12 52| 5|41.8|34 |7.5|37.5|21.5 | 2 |12 |20.5| 32 |M60xP2.0| 6xM10 66 |37|73| Fig-2

20 | 43 | 62 | M130x2 139/ 66 |165 NHT-208A6(210 107 17020 17 106.375| 150 |133.35 17|6xM12| 52| 5/41.8|34 (7.5 31.5(165 2 12|20.5 32|M60xP2.0|3xM6 |66 |37|73| Fig-1

25| 38 | 65 | M215x3 230 73 |180

(o> NN = > I > RN = > IR o > TR I & B A & ) |
(&) NS » BN & 1 B A o N A T & B A ]




"NEHI:I'_LD OF PRECISION AND POWER.

SPECIFICATIONS:
3-JAW WEDGE TYPE EXTRA LARGE

THROUGH-HOLE POWER CHUCK

( WITH ADAPTOR )
ot

1.More large bore:Having the largest bore in wede type power operated chucks.
2.20% large bore:Approximately 20% higher speed, higher gripping force and larger bore comparedwith usual chucks.
3.Model N-200A chucks are assembled with adaptor for ASA B5.9 type A spindles.
4 .Model N-200A chucks are manufactured form high grade alloy steel, All slidingsurfaces are hardened and ground for accurate actu
al running and long service repeatability.

Serration Pitch 1.5

SPECIFICATIONS:

X4

" Model [Through| Plu
NB-306A5 N62 6000 M1552 HC06 HJ06
NB-208A6 N66 16 7.4 3500 8973 20.5 4600 M1868 HCO08 HJ08
NB-210A8 N78 19 8.8 4300 11000 27.5 4200 @ 374 0.4 M1878 HC10 HJ10
NB-212A11 N122 23 10.6 5800 15000 20.5 3200 65 0.95 M2511 HC12 HJ12

DIMENSIONS:

NB-306A5

170

140

116

343

9.25

20

M60x2.0

65

36

M8

1.High performance:Similar high
performance to N serles.
2.Chuck mounting screws:

Metric or UNC socket head cap

screws are supplied for bolting

the chuck to the spindle.

3.Alternative spindle adaptors:
ASA or DIN adaptors can be
supplled to fit machine
spindle.

SPECIFICATIONS:

3-JAW WEDGE TYPE NON THROUGH HOLE

\POWER CHUCK ( WITHOUT ADAPTOR )

HEEV-206~V-218 Serration Pitch 1.5
HEEV-221~V-232 Serration Pitch 3.0

N O{D[

s P
[ 1 —
e R N
LT &&= ‘
<| © ~J “‘ﬂ
ISTERSY B o

T

N

©
©
!

e

L

B 15°=V-206~V-218

30°=V-221~V-232
T
= | O.D. Range
V-206 MS105C HJ06 HC06 | »18~2165
V-208 MS125C HJ08 HC08 | 226~2210
V-210 . MS125C HJ10 HC10 | 226~2254
V-212 4181 15907 27.5 3300 | 59.5 0.725 MS150C = HJ12-1 | HC12-1 | 226~2304
V-215 8362 25391 32.6 3000 | 101 1.8 MS200C = HJ15-1 | HC15-1 | 568~ 381
V-218 8362 25391 32.6 2700 | 116 2.9 MS200C | HJ15-1 @ HC15-1 | 130~2450
V-221 8362 27838 32.6 1940 | 181 6.2 MS200C = HJ24-1 | HC24-1 | & 65~ 2530
V-224 8362 27838 32.6 1760 | 216 7 MS200C = HJ24-1 | HC24-1 &152~2610
V-232 18.6 35 8362 27838 32.6 600 | 365 27.3 MS200C | HJ24-1 | HC32-1 | 5100~z810

DIMENSIONS:

91 82.563 5 18.25 26 | 14 (212 3xM6 16 65
NB-208A6 |210|103| 170 | 25|17 |106.375|150 |133.35(19.5/6xM12| 66 | 5| 42 |23.75 11.75 31.5 |15.5|2(14|20|37| M74x2.0 3xM6 80| 16 | 45|80 M8
NB-210A8 |254|113| 220 | 30| 18 139.719|190171.45| 24 | 6xM16|78 | 5| 53 |33.75/14.25 26.5 | 7.5 | 2|16 |25|42| MB7x2.0 | 6xM8 |94 | 16 |60|102 M10
NB-212A11 |315(134 300 |30 |22 196.869 260| 235 | 28 6xM20/122|6|74.2|36.25(12.75 42 | 19 |2|21 /28|52 M135x2.0| 3xM10 143| 20 |60|138 M10

V-206 | 16574 1 140|20(104.78 | 14 | 6-M10x70 | 21 | 5 | 38.7 | 15.25 | 9.25 |104.6 |84.6 4 | 12 36|31 [M16x2.0 34 | 39 | 73
V-208 [210|85 | 170(25|133.35/20 6-M12x85 | 25 | 5 |46.85|22.25 [11.75| 132 | 111 | 5 | 14 | 36|35 | M20x25 38 | 41 | 95
V-210 [ 25489 220/30|171.45|23 | 6-M16x85 | 34 | 5 | 51.1 | 30.75 | 11.25| 158 | 133 | 5 | 16 | 36| 40 |[M20x2.5 45 | 46 110
V-212 | 304|106 220|30|171.45|23 | 6-M16x105| 34 | 6 | 61 |48.75|12.75| 163 | 133 5 | 18 | 36| 50 | M20x2.5 | 50 | 54 | 130
V-215 | 381114 1 300|43| 235 |29 6-M20x115| — | 6 | 77.5 |50.25 [23.25| 104 | 69 | 2 |25.5 55|50 | M30x3.5 60 | 63 | 165
V-218 | 450|114 1 300(43| 235 |29 6-M20x115| — | 6 | 108 |50.25 |23.25| 92 | 57 | 2 |25.5|55) 50 | M30x3.5| 60 | 63 | 165
V-221 | 530(125/380|60| 330.2 |31 | 6-M24x115| — |6 | 86 | 935 | 245 | 97 | 62 |7.5| 25 55| 65| M30x3.5| 60 | 76 | 180
V-224 | 610{125 /380(60| 330.2 |31 6-M24x115| — | 6 | 125 | 935 | 245 | 97 | 62 (75| 25 55/ 65 M30x3.5 60 | 76 180
V-232 | 810(135/380/80| 330.2 | 26 | 6-M24x115| — | 6 |104.9/196.5| 25,5 | 74 | 39 | 9 | 25 60 74 |M30x3.5| 60 | 97 | 210




RONGHOLD OF PRECISION AND POWER.

SERIES
SPECIFICATIONS:

3-JAW WEDGE TYPE NON THROUGH
\HOLE POWER CHUCK ( WITH ADAPTOR )

Alternative spindle adaptors:
ASA or DIN adaptors can be supplied
to fit machine spindle.

HieaV-206~V-218Serration Pitch 1.5
HgaV-221~V-232Serration Pitch 3.0

0| D

N

T

15°=V-206~V-218
30°=V-221~V-232

V-206A5 | MS105C | HJ6 | HCOB | o18~ 165
V-206A6 158 | 0059 | MS105C | HJ6 | HCO6 | oi8~ 165
V-208A5 | 21 07 2549 7648 255 4500 | 258 | 0154 | MS125C | HJ0B | HCOB | 26~ 210
V-208A6 | 21 9.7 2549 7648 255 4500 | 25 | 0149 | MS125C | HJB | HCOB | 026~ 210
V-208A8 | 2f 07 2549 7648 %5 4500 | 293 | 0175 | MS125C = HJ8 | HCO8 | o26~ 210
V21086 | 25 8.8 2057 11013 286 4000 | 405 | 035 | MS125C | HH0 | HCI0 | 26~ 254
V21088 | 25 8.8 2057 11013 286 4000 | 375 | 033 | MS125C | HHO | HCI0 | o26~ 254
V210AM1 | 25 8.8 2057 11013 286 4000 | 479 | 0417 | MS125C | HHO0 | HCI0 | 226~ 254
V21286 | 30 105 4181 15907 275 3300 | 655 | 0798 | MS150C | HJ121 | HC124 | 426~ 5304
V21288 | 30 105 4181 15907 275 3300 | 625 | 0762 | MS1S0C | HJ121 | HC124 | 026~ 0304
V212A11 | 30 105 4181 15907 275 3300 | 729 | 0888 | MS1S0C | HJI21 | HC124 | 426~ 5304
V2158 | 35 16 8362 25391 326 3000 | 15 | 205 | MS20C | HJI51 | HC151 | 68~ 0381
V215A11 | 35 16 8362 25301 326 3000 | 108 | 192 | MS200C | HJI51 | HCI54 | 68~ 0381
V215A15 | 35 16 8362 25391 326 3000 | 128 | 2281 | MS200C | HJ15-1 | HCI54 | 68~ 0381
V21888 | 35 16 8362 25391 326 2700 | 134 | 335 | MS200C | HJI5-1 | HC15-1 | o130~0450
V218A11 | 35 16 8362 25301 326 2700 | 122 | 305 | MS200C | HJI51 | HC15-1 | o130~0450
V218A15 | 35 16 8362 25391 326 2700 | 143 | 3575 | MS200C | HJI5-1 | HC15-1 | 130~0450
V221AMt | 35 16 8362 27838 326 1940 | 200 | 658 | MS200C | HJ241 | HC24-1 | w65~ 530
V-221A15 | 35 16 8362 27838 326 1940 | 193 | 637 | MS200C HJ241 | HC241 | 065~ 5530
Vo2uAl | 35 16 8362 27838 326 1760 | 239 | 76 | MS200C | HJ241 | HC241 | o152~0610
V-224A15 | 35 16 8362 27838 326 1760 | 232 | 738 | MS200C | HJ241 | HC241 | o152~5610
V-232A11 | 35 186 8362 27838 326 600 | 382 | 30 | MS200C = HJ241 | HC321 | o100~810
V23A15 | 35 18.6 8362 27838 326 600 | 375 | 28 | MS200C = HJ241 | HC321 | £100~2810

DIMENSIONS:
Model |A|B c|DEl F | & | H Ko |Limf N PlafrisiT| v | v |wx|v|n

| V-206A5 | 165 84 140 20|15| 82563 | 116 104.78‘ 6-M10 | 21 38.7 | 69.6|4| 12 |36 31| M16x2.0| 3-M6 | 34|39| 73 | Figl
V-206A6 | 165 104 |140| 20 35|106.375 |104.78 | 133.35 6-M10 | 21 38.7 49.6/4 | 12 36| 31| M16x2.0| 6-M12 | 34|39| 73 | Fig3
V-208A5 | 210|103 |170| 25|23 | 82.563 |133.35 104.78 6-M12 | 25| 5 |46.85 88 |5 14 |36|35| M20x2.5| 6-M10 |38 |41| 95 | Fig2
V-208A6 |210| 97 |170| 25|17|106.375| 150 |133.35 6-M12 | 25| 5 46.85 94 |5 14 | 36| 35| M20x2.5| 3-M6 |38 |41| 95 | Figl
V-208A8 | 210 120 |170| 25 40|139.719 |133.35| 171.45 6-M12 | 25| 5 (46.85 71 |5| 14 | 36| 35| M20x2.5| 6-M16 |38 |41| 95 | Fig3
V-210A6 (254109 |220| 30 | 25| 106.375 |171.45| 133.35 6-M16 | 34| 5| 51.1 108 |5 16 | 36| 40| M20x2.5| 6-M12 | 45|46/ 110| Fig2
V-210A8 | 254|102 |220(30|18(139.719| 190 |171.45 6-M16 | 34 51.1 115|5| 16 |36 40| M20x2.5| 3-M8 |45|46|110| Fig1
V-210A11 254|134 | 220| 30|50| 196.869 (171.45 235 6-M16| 34| 5| 51.1 83 |5 16 |36| 40| M20x2.5| 6-M20 |45|46|110| Fig3
V-212A6 | 304 125|220| 30 25| 106.375 |171.45| 133.35 6-M16 | 34 61 108 |5| 18 36| 50| M20x2.5| 6-M12 |50 |54|130| Fig2
V-212A8 |304|118 220 30| 18(139.719| 190 |171.45 6-M16 | 34 61 115|5| 18 |36 50| M20x2.5| 3-M8 |50 |54|130| Fig1
V-212A11 (304|150 220| 30|50| 196.869 |171.45 235 6-M16 | 34 61 83 |5 18 |36| 50| M20x2.5| 6-M20 | 50 |54|130| Fig3
V-215A8 | 381 141|300| 43 33|139.719 | 235 |171.45 6-M20 715 36 [2|255|55| 62| M30x3.5| 6-M16 |60 |63|165| Fig2
V-215A11 (381 /130 |300| 43 22| 196.869 | 260 | 235 6-M20 715 47 |2 |25.5|55| 62| M30x3.5| 3-M10 |60|63|165| Fig1
V-215A15 (381165 |300| 43 |57|285.775 | 235 | 330.2 6-M20 715 12 |2 /25555 62| M30x3.5| 6-M24 |60 (63| 165| Fig3
V-218A8 | 450 141/300| 43 33(139..719| 235 |171.45 6-M20 108 24 |2|255|55| 62| M30x3.5| 6-M16 |60 |63|165| Fig2
V-218A11 450 130|300| 43 | 22| 196.869 | 260 | 235 6-M20 108 35 |2|25.5|55| 62| M30x3.5| 3-M10 (60|63 |165| Fig1
V-218A15 (450 165|300| 43|57|285.775| 235 | 330.2 6-M20 108 70 |2 |25.5|55| 62| M30x3.5| 6-M24 |60 |63|165| Fig3
V-221A11 530 146 | 380| 60 | 27| 196.869 | 330.2 | 235 6-M24 85 35 |8 25 |55|65|M30x3.5| 6-M20 |60|76|180| Fig2
V-221A15 [ 530 146 | 380| 60 | 27|285.775 | 330.2 | 330.2 6-M24 85 35 8| 25 | 55| 65| M30x3.5| 3-M12 |60|76|180| Fig1
V-224A11 (610 146 | 380| 60 | 27| 196.869 | 330.2 | 235 6-M24 125 35 |8| 25 | 55| 65| M30x3.5| 6-M20 |60|76|180| Fig2
V-224A15 (610|146 | 380| 60| 27| 285.775 | 330.2 | 330.2 6-M24 125 35 8| 25 | 55| 65| M30x3.5| 3-M12 |60|76|180| Fig1
V-232A11 (810|156 | 380| 80| 27| 196.869 | 330.2 | 235 6-M24 104.8 12 |9| 25 |60| 74| M30x3.5| 6-M20 | 60|97 [210| Fig2
V-232A15 (810 156 |380| 80 |27|285.775 | 330.2 | 330.2 6-M24 104.8 12 |9| 25 | 60| 74| M30x3.5| 3-M12 |60|97|210| Figl




1.Suitable for special applications:

AENET

INGHOLD OF PRECISION AND POWER.

SPECIFICATIONS:

2-JAW AND 4-JAW WEDGE TYPE N
THROUGH HOLE POWER CHUCK
_( WITHOUT ADAPTOR )

(A

Used to hold special shape work pieces such as square bar or flanges which is not possible with 3 jaw chucks.

2.Interchangable with V or VA series.
3.Basic dimensions are the same as V type.
4 High performance as V type.

HEg& Serration Pitch 1.5

S P X
! _
(m]
6’ >
-
[ | —
-} B e s
“ﬂ z
g 8 - jie
Se==H
1
k /™
B

SPECIFICATIONS:

30°

SRR

BO‘E'

(AN A ]

VIT

" HCO06

;2118»-:25165

VT-206 | 20 9.2 1224 3569 17.3 5200 | 12 | 0045 |MS195C| HJos

VT-208 21 9.7 1683 5098 16.3 4500 | 22 013 | M3122C| HJ0B | HCO8 | ©28~0210
VT-210 25 8.8 1988 7342 19.4 4000 | 335 029 | MB122C| HJ10 | HCI0 | ©24~ 254
VT-212 30 10.5 2804 10605 18.4 3300 | 58 07 | MS139C | HJ12-1 | HC12-1 | 18~ 2304
VIT-212 30 10.5 4181 15907 275 2800 | 64 078 | MS150C | Hy12.1 | HC12-1 | 218~ 304
VT-215 35 16 5557 16927 21.7 3000 | 100.6 17 | ms2o0c | HJ15-1 | HC15-1 | 68~ 5381
VIT-218 35 16 8362 25391 32.6 2300 | 119 2975 | ms200C | HJ15-1 | HC15-1 | 2130~z450
VIT-224 35 16 8362 27838 32,6 1520 | 228 g3 MS200C | HJ24-1 | HC24-1 | 5152~0610
VIT-232 35 18.7 8362 21924 32.6 920 | 400 30 MS200C | HJ24-1 | HC32-1 | 2100~2810

DIMENSIONS:

VT-206 104.78 | 14

4-M10x70 | 21

38.7

104.6

31

341 39| 73

165 | 74 | 140 | 20 5 15.25 | 9.25 846| 4| 12 |36 M16x2.0

VT-208 | 210 | 85 | 170 | 25 | 133.35| 20 | 6-M12x85 | 25 | 5 | 46.85| 22.25 | 11.75 | 132 | 111 | 5| 14 | 36| 35 | M20x2.5 |38 | 41 | 95

VT-210 | 254 | 89 | 220 | 30 | 171.45| 23 | 6-M16x85 | 34 | 5 | 51.1 | 30.75 | 11.25 | 158 | 133 | 5| 16 |36 40 | M20x2.5 | 45 | 46 | 110
VT-212 | 304 | 106 | 220 | 30 | 171.45| 23 | 6-M16x105 | 34 | 6 | 61 | 48.75|12.75| 163 | 133 | 5| 18 | 36| 50 | M20x2.5 | 50 | 54 | 130
VIT-212 | 304 | 106 | 220 | 30 | 171.45| 23 | 6-M16x105 | 34 | 6 | 61 | 48.75|12.75| 163 | 133 | 5| 18 |36 50 | M20x2.5 | 50 | 54 | 130
VT-215 | 381 | 114 | 300 | 43 | 235 |29 |6-M20x115| — | 6 | 77.5 | 50.25 | 23.25 | 104 | 69 | 2 | 255/ 55| 50 | M30x3.5 | 60 | 63 | 165
VIT-218 | 450 | 114 | 300 | 43 | 235 | 29 | 6-M20x115| — | 6 | 108 | 50.25 | 23.25 | 92 | 57 | 2| 255/ 55| 50 | M30x3.5 | 60 | 63 | 165
VIT-224 | 610 | 125 | 380 | 60 | 330.2 | 31 | 8-M24x115| — | 6 | 125 | 935 | 245 | 97 | 62 |75 25 |55 65 | M30x3.5 |60 | 76 | 180
VIT-232 | 810 | 135| 380 | 80 | 330.2 | 26 | 8-M24x115| — | 6 |104.9| 1965| 265 | 74 | 39 | 9| 25 |60 74 | M30x3.5 |60 | 97 | 210

SPECIFICATIONS:

3-JAW WEDGE TYPE NON THROUGH HOLE

\POWER CHUCK ( WITHOUT ADAPTOR )

1.Chucking operations of very large components external or internal clamping.
2.Suitable for vertical machines thanks to the front protection of the slide ways.
3.Chuck with manual radial setting of master jaw for the workpiece.

S f
P
2 | ]t
o= i |l:=: S
z = °
é || ‘El?g4
j 8_ Z|lo
100
-
<| 9| === T
B8 = N | |
e REE:
&
m|lp M
J
8 |
SPECIFICATIONS:

30
izl
T

<
S W e bt

=

|

s FE R i B

223

76.2 381

55

62

7l

Soft jaw HC40-1

19.03 |1
140 83

Hard jaw HJ40-1

40" V-240 3 630 | 645 82 S250C c
vitzaol 2 57 23 +(30) 180 320 428 T RES = MS250C| HJ40-1 | HC40-1
50" V-250 3 500 | 890 | 168
VIT-250| 4 57 23 +(30) 180 320 42.8 400 | 940 177  |MS250C| HJ40-1 | HC40-1
VE-250 | 6 360 | 971 183
63" VIT263] 4 | . 24 + (40) 200 360 469 300 | 1700 518 |yiso50C| HU40-1 | HC40-1
VE-263 | 6 280 | 1800 | 548
79" VE-279| 6 60 24 + (40) 200 360 46.9 230 | 2850 | 1350 |MS250C| HJ40-1 | HC40-1
DIMENSIONS:
40" V-240
VIT-240 1005| 180 | 520 | 502 |463.6| 108 M24 | M52x15 | 8 | 457 | 30 | 59 2 | 4 |7M24 |19 | 85 | 72
50" V-250
VIT-250|1250| 180 | 520 | 623 |463.6| 108 = M24 | M52x1.5 | 8 | 563 | 30 | 59 2 | 4 |10-M24 19 | 85 | 72
VE-250
63" VIT-263
VE-263 | 1600 220 | 720 | 796 (6476 144 M30| M52x15 | 8 | 738 | 40 | 82 | 22 | 6 |13-M24| 22 | 110 72
79" VE-279 [2000| 238 | 720 | 996 |647.6| 159 | M30| M52x15 | 8 | 914 | 40 | 100 | 40 | 6 |17-M24| 22 | 110 | 72




PRECISION AND POWER.

SPECIFICATIONS: -2 -

VERTICAL AND VERTICAL / HORIZONTAL
STATIONARY POWER CHUCKS

1.Suitable for vertical milling and dritting operations.
2.With large through-hole, Vertical/horizontal power chucks not only can glip the
long workpiece bat also can do horizontal holding.

2
12K
™~

Q E

i & @
=i [ —
| K
I PA5 (6")  A5(8") J

DOV Fig-1 DON Fig-2

SPECIFICATIONS:

6" DOV 2115 104 78.5 20 1900 1400 12 20 V-206
V-208

8" DOV 2155 187 148.6 21 3600 2800 21 20 V-210
V-212

8" DON 2155 148.6 148.6 17 2800 2800 28.5 20 N-208

DIMENSION:

6" DOV 2220 | 168 | 140 | 55| 2200 |49 |16 |65.5 55| 38 | 45 |104.78| 12-M10X16L | 18 | -2 |PT14" 7.6 |2-215 M16XP2.0| Fig-1

8" DOV 290 | 210 | 170 | 70 | 242 |58 |24 | 86 5.5| 23 | 65 |133.35| 12-M12X18L | 20 A -1 |PT14" 55| 2-16 |M16XP2.0 Fig-1

8" DON 203 | 213 | 170 | 70 | 242 |52 |24 | 100 | 5.5 |32.5/74.5/133.35| 12-M12X18L | 30.4 13.4 |PT1/4" 16 | 417 |MBOXP2.0| Fig-2

SPECIFICATIONS:

COLLET CHUCKS FOR CYLINDRICAL
CENTER MOUNT

B
1.Collet chucks with bayonet catch are mainly used for P D
chucking bar work on NC/CNC lathes. X
2.The bar stock can be fed in through the chuck. \ Clamping position T,
3.Profiles can also be chucked with the appropriate collets. —
pprop a = e
E_
K
S R R e«
| | i
= |
M N (| ] | = —

SPECIFICATIONS: UNIT:mm

CR42-140 140 42 7 6.2 25(2549) 55(5608) 6,000

CR60-170 170 60 7 15 30(3059) 65(6628) 5,000
CR60-220 220 60 7 15.5 30(3059) 65(6628) 5,000
DIMENSION:

CR42-140 155 114 | 100 23 | 13335 @ 140 | MB6xP1.5 | 66 | M55xP2.0 | 25 | 18 | 6 1.9 | 3-M10 3.1
CR60-170 185 139 | 130 | 30 | 13335 @ 170 | MOOXP15 | 80 | M74xP2.0 | 30 | 18 | 6 179 | 6-Mi2 3.1
CR60-220 235 141 | 130 | 32 | 171.45 220 | MOOXP1.5 | 80 | M74xP2.0 | 30 | 20 6 199 | 6-Mi6 3.1

CAPACITIES: Collet Drawings:

NO. CAT.NO. O C | 0O catno. | O O] O

CR42 M-673 42 36 | 30 | 173E/4728 42 36 | 30

CR60 M-677 60 52 | 42 | 185E/4291 60 | 52 | 42

Uses the collet to DIN 6343 specification

Spring Collet Multi-Bore Collet




" PRECISION AND POWER.

SPECIFICATIONS:

COLLET CHUCKS FOR SHORT
TAPER MOUNT

B
1.Collet chucks with bayonet catch are mainly used for P D
chucking bar work on NC/CNC lathes. Clamping position T
2.The bar stock can be fed in through the chuck.
3.Profiles can also be chucked with the appropriate collets. =—f — [
i =
K
N
88 o F - T — B 8
. |
fl i | ! —
UNIT:mm

SPECIFICATIONS:

CR26A4 A2-4 26 5 45 | 20(2039) 44(4486) 7,000
CR30A4 A2-4 30 5 4.1 20(2039) 44(4486) 7,000
CR42A5 A2-5 42 7 6.2 25(2549) 55(5608) 6,000
CR42A6 A2-6 42 7 8.2 25(2549) 55(5608) 6,000
CR60A6 A2-6 60 7 13 30(3059) 65(6628) 5,000
CR80A8 A2-8 80 7 21 35(3568) 73(7443) 4,000
DIMENSION:
CR26A4 112 103.5 85 30 8255 | 63513 | M50xP1.5 | 45 | M4OxP15 | 15 21.7 3-M10 23
CR30A4 112 103.5 85 30 82.55 63.513 | M50xP1.5 | 45 | M40xP1.5 15 217 3-M10 2.3
CR42A5 135 124 100 27 104.78 | 82.563 | M66xP1.5 | 60 | M55xP2.0 | 25 274 4-M10 3.1
CR42A6 170 124 100 32 133.35 | 106.375 | M66xP1.5 | 66 | MBOxP2.0 | 22 274 4-M12 3.1
CR60A6 170 145 130 27 133.35 | 106.375 | M90OxP1.5 | 80 | M74xP2.0 | 30 29.9 4-M12 31
CR80A8 220 170 156 35 171.45 | 139.719 | M114xP2.0| 99 | MOOxP2.0 | 27.5 32.4 6-M16 6.1
CAPACITIES: Collet Drawings:

NO. CAT.NO. o C O CATNO. O | O | O
CR26 M-667 26 | 22 | 18 | 161E/8744 30 | 26 | 18
CR30 M-669 30 | 26 | 21 | 163EM249 30 | 26 | 21
CR42 M-673 42 | 36 | 30 | 173E/4728 42 | 36 | 30
CR60 M-677 60 | 52 | 42 | 185E/4291 60 | 52 | 42 Spring Collet
CR80 J-660 80 | 69 | 56 | 193E/H-47 80 | 69 | 56

Uses the collet to DIN 6343 specification

Multi-Bore Collet

L
E
|
i |
L
L
By

y

1.Hard jaw for hydraulic power chucks.
2.Hard jaw for CNC lathe.

SPECIFICATIONS:

HARD JAWS FOR HYDRAU
POWER CHUCKS

LIC

Fig-1
. : . e
| | T
ap _
N\
H-7 H-7
- H-1 ‘
o H-6 H-8 H-2
T . B
|
T
? N st
I [
= CL L] Je
T ! 1 :I':l
, 1®
{ B JF
B0 P \H-2 L——‘H4
H-9 Serration

SPECIFICATIONS:

H-2

Fig-2
' - L
T
H-7 H-7
H-1
H-6 { H-8
1
|
- | F:__—:.\'
C‘? = | I | |
I T N T
RIS
: ) %
P10 et H-12
H-9 Serration

ay
L'ﬂ-‘

UNIT:mm

HJ05 53 (23 |27.5| 10| 4 [305| 14 |225|135| 85 | 10 | M8 6 1.5x60° Fig-2 N-204.N-205 0.4
HJ06 67 |31 (36 | 12| 5 |395( 20 [27.5]| 17 | 11 10 | M1O | 11 1.5x60° Fig-2 N-206.V-206 1.0
HJ08 86 |35 |51 | 14| 5 | 31 25| 18|19 | 13 12 | M12 | 12 1.5x60° Fig-1 N-208.V-208 1.9
HJ10 995 (40 (54 | 16| 5 | 43 [ 30| 17 | 19 | 13 13 | M12 | 15 1.5x60° Fig-1 N-210.V-210 2.9
HJ12 103 |50 |52 | 21| 4 |625| 30 |40.5| 25 | 17 17 | M16 | 30 1.5x60° Fig-2 N-212 3.5
HJ12-1 103 |50 | 52 | 18 | 5 |625| 30 |405| 22 | 15 17 | M14 | 30 1.5x60° Fig-2 V-212 3.6
HJ15 149 |62 |86 | 22| 8 | 63 | 43| 34 | 32 | 21 20 | M20 | 40 1.5x60° Fig-1 N-215.N-218 9.6
HJ15-1 149 |62 | 86 |255| 5 | 63 | 43| 34 | 32 | 21 20 | M20 | 40 1.5x60° Fig-1 V-215 9.5
HJ24-1 |159.5/80 | 90 | 25| 9 (1045 50 | 55 | 32 | 21 40 | M20 | 55 3.0x60° Fig-2 | N-220.N-224.V-221.V-224 14.3




PRECISION AND POWER.

SPECIFICATIONS: —

SOFT JAWS FOR HYDRAULIC
POWER CHUCKS

1.Soft jaws for hydraulic power chucks.
2.Soft jaw for CNC lathe.

‘ , HEEE Serration
I
o Pitch 1.5 RO.1 Fig. 1
-5 o & -
[} 29,
c-1 L T — 17 WY
o (0.25) 460" ] ] [[
ch_ C7 c-8 c-2 bk E E L E _IF B
1 ' A B | A D
. ; i ! Pitch 3.0 {?ﬂ 8 ]| a B
= e . , | | F——
@ o | [ T T mLE ™
il 2| | T o A
) e ==s gt = flld D el
c-10 c-12 C-4 £L60°_> K £ oK
c-8 ki Serration

UNIT:mm

SPECIFICATIONS:

HC04 53 | 23 (23 | 10 5 9 | 14 | 30 |135]| 9 14 | M8 3 1.5x60° N-204 0.45 NO0205-0H 26 145 15 10 14 6 55 M8 5 2 . - 1 N-204, N-205
HCO5 |62 | 25|30 | 10| 5 | 9 |14 |39 135/ 9 |21 | M8 | 5 | 1.5x60° N-205 07 N0206-0H | 36 (175 | 185 [ 12 | 20 [ 82 | 75 Mo | 8 | 25 | - 1 N-206, NB-306
HCOs |73 | 31|36 |12| 5 | 15|20 |38 |17 | 11 [ 21 [M10| 14 | 1.5x60° N-206.V-206 15 NO208-0H | 465 | 205 | 205 | 14 | 25 [105 B85 Mi2 12 4 - 1 N-208, NB-208
HCos |95 | 35|37 |14 | 5 |24 |25 |46 | 19 |13 [ 22 |[M12| 16 | 1.5x60° N-208.V-208 24 NO210-0H | 51 225 [215| 16 | 30 | 11 | 85 [ Mi12| 11 3 - 1 N-210, NB-210
HC10 |110| 40 |42 | 16| 5 | 30 | 30 | 50 | 19 | 13 | 27 |M12| 18 | 1.5x60° N-210.V-210 a7 NO0212-0H | 555 295 | 27.8 | 21 | 30 | 12 | 115 M6 13 | 45 | - 1 N-212, NB-212
HC12  [130| 50 |60 |21 | 5 |39 |30 | 61 | 25 | 17 | 30 [m18] 23 | 1.5x60° N-212 65 vg:;:'gﬁ 3‘;0 (335 | 2-5 2; ;30 17 | 165 h":ag [ 16‘ g J 2 V'“a:;sN:_ralgB
165| 62 |62 |22 | 8 | 37|43 |85 | 32|21 |38 |M20| - 1.5%60° -215.N- 125 S | 4TS S L L = L e =
Hl-tl;(:1251 130| 50 |50 | 18| 5 | 39 | 30 | 61 | 23 | 15 | 30 [M14 | 23 1.5x60° s 2\1-52:‘2218 6.6 Vo208-0H | 48 [205 [255 | 14 [ 25 it 85 [miz| 8 % . 1 Ll
: VD210-0H | 55 225 255 16 | 30 | 11 | 95 Mi2| 8 4 - 1 V-210
Hofol | 165162 | & 1285] & | 37 149 |85 -2 Bt fiod | M2b = | sl V-215.V-218 L V02120H | 555 | 265 | 335 | 18 | 30 | 1.5 | 185 | M4 | 12 | 5 | - 1 v-212
HC24-1 |180| 64 | 70 | 25 | 9 | 40 | 60 | B0 | 32 | 21 | 45 |M20 | - 3.0x60° N-220.N-224.V-221.V-224 158 V0215-0H | 42 | 35 | 39.2 | 255 | - s 19 | M20 | - 25 | - 3 V-215, V-218
HC321 (210 74 (90 [25 | o [ 40|80 |90 |32 |21 |65 [M20| - | 3.0x60° v-232 292 VO215-0H1| 42 | 35 | 412 | 26 | - - 19 (Mo - [ 25 | - 3 V-215P3.0 I
V0224-0H | 46 375 45 | 25 - - 19  M20 - | 265 | - 3 | N-220, N-224,V-221, V-224,V-232




INGHOLD OF PRECISION AND POWER.

gLe

SPECIFICATIONS:

SUPER HIGH SPEED THROUGH HOLE
_ROTARY HYDRAULIC CYLINDER

g adap
_spindle noses DIN 55026

Adapters Type1: 1.Small-sized light weight:Comparing with the traditional product, it is small-sized (reduced to MAX 95mm)and a light weight
Snind| (weighted MAX 4.5kg). Make its capacity more slable to reduce the burden of the machinery at high speed turning.

2.The most largest bore:Comparing with the old product, it has about 20% more bore full diameter forutilizing the capacity of machinery.

E . |
N0205-0J4 A4 110 | 63.513 | 8255 | 3-11 | 15 N-205 3.The safety mechansim: It can retain the gripping force with a check valve.
:91‘% }_ N0205-0J42 | A4 | 110 | 63.513 | 82.55 | 4-11 | 15 NT-205 M1036 253 63, w
At ' N0206-0J5 A5 | 140 | 82.563 |104.78 | 6-11 | 15 N-208, NB-306, \-206 g e
R N0206-0J52 A5 140 | 82.563 |104.78 | 6-11 | 15 NT-206, VT-206 T
N0208-0J6 A6 | 170 | 106.375 | 133.35 | 6-13 | 17 N-208, NB-208, \-208
5 Tt 38 N0208-0J62 | A6 | 170 | 106.375 | 133.35 | 6-13 | 17 NT-208, VT-208 o
N0208-0J64 A6 170 | 106.375 | 133.35 | 4-13 | 17 NIT-208 ==
NHT0208-0J6| A6 | 170 | 106.375 [133.35 | 6-13 | 17 NHT-208 g |57 [ =l i
| N0210-0J8 A8 | 220 | 139.719 |171.45| 6-17 | 18 |  N-210,N-212, NB-210, V-210, V-212 F82|8|z 3|5 ;£ i
I N0210-0J82 A8 220 | 139.719 |171.45 | 6-17 | 18 NT-210, NT-212, VT-210, VT-212 I T
g N0210-0J84 | A8 | 220 | 139.719 |171.45 | 4-17 | 18 NIT-210, NIT-212, VIT-212 B
N0215-0J11 A1l 300 | 196.869 | 235 6-21 | 22 N-215, N-218, NB-212, V-215, V-218 - wi 4 |
N0215-0J112 | A11 | 300 | 196.869 | 235 | 6-21 | 22 NT-215, VT-215 ot |
N0215-0J114 | A11 | 300 | 196.869 | 235 | 4-21 | 22 NIT-215, VIT-218 —
V0224-0J15 | A15 | 380 | 285.775 | 330.2 | 6-25 | 27 N-220, V-221, V-224, V-232 l Rail stk
N0224-0J20 | A20 | 520 | 412.775 | 463.6 | 6-25 | 25 N-224, N-232, V-240, V-250 PT1(M0928-PT 3/4) % -
Adapters Type2: DIMENSIONS: 033 - | . ﬂ
r£'1 ' ' ' : M8x1.25 34 4 5 | PT1/4" | 5 M34x1.5
zt___ N0208-0J5 | A5 | 170 82563 104.78 11 |133.35 M12|23 N-208,NT-208, NIT-208, NHT-208 M1036 | 25 | M5x0.8 | Miox15 (126 | 88 | 68 | 53 | 15 | 38 | 64 | 14 | 4 | Msx08 | 4 | PT38"| 6 136 | M4dxi.5| 42 | 101 | 136
S - 7} NB-208, V-208, 1T-208 M1236 | 25 | M6x1.0 | Mioxi5 [135 98 | 76 47 |15 |38 | 76 14 | 4 | M5x08 | 6 | PT1/2" | 6 | 169 | M52x1.5 50 | 99 | 1545
.:..{; N0210-0J6 A6 | 220 106.375|133.35 13 | 17145 M16 |25  N-210, NT-210, NIT-210, N-212, NT-212 M1246 | 30 | M6x1.0 | M10x15 | 135 | 98 | 76 | 47 | 15 |50 | 76 | 14 | 4 | Ms5x08 | 6 | PT1/2"| 6 | 169 | M52x1.5| 50 | 99 | 1545
2 NIT-212, V=210, VT-210,V-212, VT-212, VIT-212 M1546 | 30 | M6x1.0  M10xi5 | 145 | 110 | 86 | 47 (15 | 50 | 85 | 14 | 4 | Mexd0 | 7 | PT1/2"| 6 1875 M58x1.5 56 | 103 | 190
i | ol o N0215-0J8 A8 | 300 139.719(171.45 17 | 235 M20|33| N-215 NT-215 NIT-215 N-218, NB-212 M1552 | 30 | M6x1.0 | M10x15 | 145 | 110 | 86 | 47 | 15 | 55 | 85 | 14 | 4 | Mex10 | 7 | PT1/2" | 6 1875 M58x1.5| 56 | 103 | 190
S} ISUR SR S V-215, VT-215, V-218, VIT-218 M1868 | 35 | M6x1.0 | M10x15 | 166 | 155 | 101 | 47 | 15 | 70 | 108 | 16 | 4 | Méx1.0 | 75 | PT1/2" | 6 220 | M84x2 | 81 | 126 | 215
x N0220-0J11 | A11 | 380 196.869| 235 21 | 3302 M24|41 N-220 M1870 | 35 | M6x1.0 | M10x1.5 | 166 | 155 | 101 | 47 | 15 | 75 | 108 | 16 | 4 | Méxi.0 | 75 | PT1/2" | 6 220 | M84x2 | 81 | 126 | 215
S N0224-0J11 A1d 520 196.869| 235 | 21 | 4636 M24 |45 N-224, N-232, V-240, V-250 M1875 35 | M6x1.0 | M10x1.5 | 166 | 155 | 101 | 47 | 15 | 80 | 108 | 16 4 Mex1.0 | 75 | PT1/2" | 6 | 220 | M84x2 | 81 | 126 | 215
*E'E*il N0224-0J15 | A15 | 520 285.775| 330.2 25 | 4636 |M24 |42 N-224, N-232, V-240, V-250 M1878 35 | Méx1.0 | M10x15 | 166 | 155 | 101 | 47 | 20 | 82 | 108 | 16 | 4 Méx1.0 |75 | PT1/2" | 6 | 220 | MB4x2 | 81 | 126 | 215
V0224-0J8 A8 380 1139.719|171.45 17 | 3302 |M24|33 \-221, V224, V-232 M2085 35 | M6x1.0 |M12x1.75| 182 | 165 | 110 | 47 | 20 89 | 120 | 16 4 M6x1.0 7 PT1/2" | 6 | 267 | M99x2 96 | 141 | 240
V0224-0J11 | A11 | 380 |196.869| 235 21 | 4636 M24|27 V221, V224, ViR M2091 | 35 | M6x1.0 |Mi2x1.75| 182 | 165 | 110 | 47 | 15 | 95 | 120 | 16 | 4 | Mex1.0 | 7 | PT1/2"| 6 267 | M99x2 | 96 | 141 | 240
V02630020 | A20 | 720 412775 | 463.6 | 27 | 6476 | M30 |50 263, VE-263, VE-279 M2511 45 | M6x1.0 | M16x2.0 | 197 |206 | 129 | 55 | 20 |123 | 160 | 18 | 5 | Mexi0 | 7 | PT1/2"| 6 294 1346 | 186 | 310
Adapters Type3: = I _ _ __ u| V|V |w/l
o B Vode MO928 | 100 | 80 | 65 | 44 | M3sxi5 | 28 | 25 | 54 44 | 59 65 | 90 | 105 | 156 | 9 | 4 | 35 | 25 | 3 5 | 9 | 108
N |_ M1036 | 115 | 100 | 65 | 48 | Md2xi5 | 36 | 32 | 62 | 54 | 73 | 80 | 104 | 115 (1795 10 | 5 | 39 | 24 |25 | 5 [ 11 | 1205
_c%’ {“7 } . | N0205-0J5 A5 |110| 82.563 |104.78|11|82.55 [M10/128 | 32 N-205,NT-205 M1236 130 | 100 | 80 | 65 | Md42x15 | 36 | 36 | 67 64 |« 85 | 90 | 18 | 114 | 184 | 10 | -5 40 25 “ 5 1 126.5
i ——1 M1246 | 130 | 100 | 80 | 65 | Ms5x2 | 46 | 36 | 67 | 64 | 85 | 90 | 118 | 114 | 184 | 10 | -5 | 40 | 25 | 4 [ 5 | 11 | 1265
~ >I NO0206-0J6 A6 140 | 106.375|133.35/13|104.78/M10 | 168 | 35 N-206, NT-206, NB-306, V206, VT-206 M1546 170 | 130 | 85 | 65 M55x2 46 36 | 75 73 9 | 102 | 137 | 130 | 196 17 -5 47 25 4 5 1 136
N Mi1552 | 170 [ 130 [ 85 | 70 | Meox2 | 52 | 36 | 75 | 73 [ 96 (102 | 137 [130 [ 196 | 17 | 5 | 47 | 25 | 4 [ 5 [ 11 | 13
z g __— 2 g % N0208-0J8 | A8 1170 139.719|171.45/17 133.35\M12 208 | 40 N208 NT-208 NT-208, NB 208 M1868 | 190 | 160 | 120 | 85 | M75x2 | 68 | 36 | 84 98 | 121 | 131 | 166 | 160 | 230 | 20 | 5 | 50 | 25 | 4 5 | 175 | 1525
208 V7208 M1870 | 190 | 160 | 120 | 95 | M7ex2 | 70 | 36 | 84 | 98 | 121|131 | 166 | 160 | 280 | 20 | 5 | 50 | 2% | 4 | 5 [175 1525
< N0212-0J11 | A11 |220|196.869| 235 |21[171.45|M16|278 | 50 | 10, NT210,NT210, N1 NT212, NT212 m:;g :gg 123 133 gg mgﬁ ;: gg 2: g: . 12} 122 Igg zgg gg ‘;’ Zg i: : g :;2 :22;
I - LU B L M2085 | 215 | 180 | 140 | 110 | Mo3x | 85 | 36 | 93 108 | 138 | 148 182 185 | 283 | 25 5 55 | 25 3 5 | 21 | 1665
ﬁZE—' N0215-0J15 | A15 |300|285.775) 3302 |25) 235 \M20 37857 |  N2I5NR15 NT215,M216 NBA2 M2091 | 215 | 180 | 140 | 110 | Mfoox2 | 91 | 3 | 93 | 108 | 138 148 | 182 | 185 | 253 | 25 | 5 | 5% | 25 | 3 | 5 | 21 | 1665
215, VT-215, 218, V218 M2511 | 275 | 230 | 166 | 140 | Mi3x2 |1175| 36 | 89 | 148 | 178 2 | 215 | 296 | 18 | 5 | 38 | 15 | 3 | 6 | 27 | 1845
V0224-0J20 | A20 |380|412.775| 463.6 |26|330.2 |M24 520 | 58 N-220,-221,V-224 V232 T T —




SPECIFICATIONS:

199(2029)

18(1835)

IF PRECISION AND POWER.

M0928 | 83 | 10 08 8000 0006 55 30
M1036 | 105 7 B85 | 15 | 24859 | 240mn) 48 8000 0011 86 30
M1236 | 125 100 B 5| 387 | 33(3365) 48 7000 0019 130 30
M1246 | 1% 100 B9 5| 38875 | 33(3965) 48 7000 0019 120 30
M1546 | 155 161 5 | 2 | 6018 | 5785 48 6200 0056 18 39
M1552 | 15 161 50 | 2 | eo6tig) | S66710) 48 6200 0052 168 39
M1868 | 180 198 7 | 5 | e | 73sm0) 48 410 00% 20 42
M1870 | 18 198 18 | 25 | e | e 48 4100 00% %5 42
M1875 | 18 198 183 % | T | 69(70%) 08 410 00% %0 4
M1878 | 18 198 185 | 5 | 74 | 6970%8) 48 410 00% %5 42
M2085 | 25 %2 B | 0| e | seeom 08 300 015 375 45
M2091 | 25 22 B | W | s4eses) | seem 48 300 015 370 45
M2511 | 250 8 3% 2% | 12410644) | 120(12236) 08 2800 045 57 70
i ]

1. Hydraulic Cylinders coolant collectors.
Compact and light weight, they feature bore sizes up to
20% large than Conventional Cylinders. Precision finished
piston bores and cool running rotary unions are included for
years of trouble-free performance.

2. The sensors are extra ordered.

SPECIFICATIONS:

HYDRAULIC CYLINDERS COOLANT
_COLLECTORS

DIMENSIONS:
CMO9B |85 | 67 [33| 70 [105/55.5|77 [ 5| 24 | M0928 | 0.85
CM10B |118| 75 |42| 84 |[131| 76 [107|5| 22 | M1036 | 1.6
CM12B |18 87 42| 84 [131| 76 [107|5| 23 | 1230 | 1.6
CM15B8 |118| 98 |42| 84 (131] 76 1075 | 25.5| \Mi22o | 1.6
M1868
CM18B [158(123 |44 88.5(151| 96 [147|5| 23 | M1870 | 2,0
M1878
CM20B (158|140 |44(88.5(151| 96 [147| 5| 23 | page: | 2.1
CM25B [198(177 45| 90 [180| 118 [192(12| 35 | M2511 | 2.4

Six Holes divided
equally For CM10B

(G]€]

9B

SPECIFICATIONS:

HIGH SPEED AND SHORT THROUG HOLE
_ROTARY HYDRAULIC CYLINDER

e

1.The thin hydraulic cylinder which is short in length about 30% and eiht light weight can reduce the spindle load while running in high speed.
2.Built-in check valve in safety auto lock and pressure relief valve in case of power faiure occurs.
3.New model developed and rear and locking installation.

2x2-S1

R1 Al

Y1

P1

25

6-Z1

(l_L]

@S
@P
BN (HT)

joile}
BF
@E (h7)
@D
@C

(55]

SPECIFICATIONS:

@uU1

G1

PT1 K1

12-F1

MK-1246 128 1026 91.4 16 | 43.6(4466) | 38.9(3967) 45(45.9) | 8000 8.6 3.1
MK-1452 145 133 12256 22 | 265(5761) | 52.1(5313) 45(459) | 6500 | 0028 | 12 3.9
MK-1775 170 166 152 25 | 70.7(7209) | 64.7(6587) 45(459) | 5500 | 0.060 | 178 45
DIMENSIONS:
MK-1246 | 162 |147 130 | 75 | 65 M55x2.0 | 46 40 58 | 64 | 8 | 116 | 120 (120 13 | 3 | 44 28 8
MK-1452 | 184 |165 140 | 80 | 70 M60x2.0 |52 40 66 | 73 | 96 | 135 | 130 (130 | 19 | 3 | 47 | 25 8
MK-1775 | 212 |195 160 | 105 | 90  M85x2.0 | 75 46 71 | 98 | 121 | 164 | 160 (157 | 22 | 3 | 50 25 8

MK-1246 | 85 79.5| 25 |M6x10L |M10x20L | 84 98 76 | 47 15| 50 | 50 | 76 | 4 | M5x6L| 9 |PT3/8 12 | 165 |M52x1.5 50 | 15 | M8
MK-1452 9 | 88 | 30 | Mex7L |M10x20L | 93 | 110 | 86 | 47 | 15 | 55 | 55 | 85 | 4 | Méx6L | 7 |PT3/8 12 | 184 | M58x1.5| 56 | 12 | M8
MK-1775 | 175 99 | 30 | M6x13L | M10x20L | 110 | 155|100 | 47 15 | 80 | 80 | 108 | 4 |M6xiOL| 7 |PT1/2 | 12 | 216 | M84x2.0 | 81 | 18 | M10




RONGHOLD OF PRECISION AND POWER.

1.Matching for large bore power chucks.
2.Special aluminum alloy ateel body, light weight for reducing he spindle load.
3.Vales inside to maintain the power of pushing.
4 Extra large bore design, euipped with coolant collector and detective plate.

5.Sensors and mounting bolts are extra order.

EXTRA LARGE THROGH HOLE ROTAY
HYDRAULIC CYLINDER

e

Al B1

{ H s
q ! e
i A 5| (201145 -
- 2 ff‘f“,\ _ =L Hol3a o
g \i#{/ % = g B w
i B-e-:{:::}}-
=L
L H
ol i -41:
\
\ 12-F1
o R
o : G1-1/4"
233
SPECIFICATIONS:
) ) ; ) Max. Operating| Max | Moment . Total
Model Piston Dia Piston Area glt?:ﬂ(?a Max. Drayv BarFul Pressure | Speed |of Inertia1| Weight | |eakage
(mm)  pysh Side(cm? | Pull Side(cm?) Push Side KN(kgf) | Pull Side KN(kgf) |  (kgflem?) | (rp.m.)| (kg-m?) | (k@) (L/min)
ML2816CM28B| 285 394 350 42 | 116.8(11910) | 106.8(10584) 3.3(33.6) 2000 0.85 68 9
ML3320CM33B| 335 515.7 416.9 42 | 152.9(15591) | 136.9(13960) 3.3(33.6) 1600 1.09 103 10
DIMENSIONS:
\' v w w :
Model C D = G H J L R T U e i b i Al B1 F1 M1
ML2816CM28B | 335 280 240 190 M180x3.0 | 166.5 | 140 | 382 | 260 279 4 -1 67 | 25 | 18 | 202 |M16x32L| 170
ML3320CM33B | 390 320 280 230 M215x3.0 | 205 | 147 | 392 | 260 292 41 -1 67 | 25 | 18 | 210 |M20x32L| 210

SPECIFICATIONS:
NON THROUGH HOLE ROTARY

HYDRAULIC CYLINDER ( WITH VALVES )

\
Built-in safty check valves.
3 K e P
¥ L M L5 i
11, N .
AB h A
:Bore
2-M5X10 Plag B:Stroke L
5
ar | N N
&lwimFo
— ] a —
A,
DIMENSIONS:
Di
mar~—"] A|B|c |D|E|F|a| H J I K|L|M|[N|[hlE]l @ |nr
MS105 105 | 20 | 135 | 100 | 80 | 30 | 21 M20x2.5 35 | 197 | 108 | 89 | 152 | 45 | 25 | 6-M10x20 | 158
MS125 125 | 25 160 | 130 | 110 | 35 25 M24x3.0 44 | 205 | 108 | 97 | 160 | 51 26 | 6-Mi12x24 | 166
MS150 150 | 30 190 | 130 | 110 | 45 31 M30x3.5 45 | 214 | 108 | 106 | 169 | 56 | 26 | 12-Mi2x24 | 175
MS200 200 | 35 245 | 145 | 120 | 55 37 M36x4.0 60 | 228 | 108 | 120 | 183 | 69 | 34 | 12-M16x30 | 189
SPECIFICATIONS:
Piston Area Mar. Draw Bar Pull| . Max. Operating )
Dim : - Pull Side KN Piston Stroke | Max.Speed Pressure Total Lea_kage Moment Inertia | Weight
Model Pu?cr:-n%lde Pl'(lgrgal;j & (kgf) (mm) (rp.m.) (kgflcm?) (L/min) I (kg-m?) (kg)
MS105 86 79 29 (2957) 20 6000 4.0(40.8) 08 0.0125 7.1
MS125 122 113 42 (4283) 25 6000 4,0(40.8) 0.8 0.0225 10
MS150 176 160 60 (6118) 30 5500 4.0(40.8) 0.8 0.0475 13.5
MS200 314 290 108 (11013) 35 5500 4.0(40.8) 0.8 0.0975 22




1.Built-in safty check valves.
2.Pressure relief valves and sensor switches.
3.The sensors are extra ordered.

MAX.

SPECIFICATIONS:

NON THROUGH HOLE ROTARY HYDRAULIC
\CYLlNDER ( WITH VALVES AND SWITCHES )

1JF PRECISION AND POWER.

K = P
S iz8 7
> >
A
2-PT3/8 A:Bore
B:Stroke M A
: = F .
[aV}
B ) ) 5 i - A |§ E a o
Y , Q 8 Q
J 'M s
- ¥ 0]
. Q
( \d
2 ] A
R —‘;.\O

DIMENSIONS:
MS105C 105 | 20 | 135 | 100 | 80 30 21 M20x2.5 | 35 | 257 | 168 | 89 | 152 | 45 25 | 6-M10x20 | 158 | 23 | 46
MS125C 125 | 256 | 160 | 130 | 110 | 35 25 M24x3.0 | 44 | 265 | 168 | 97 | 160 | 51 | 26 | 6-M12x24 | 166 | 23 | 46
MF125C 1256 | 35 | 160 | 130 | 110 | 35 25 M24x3.0 | 44 | 269 | 168 | 101 | 164 | 57 = 22 | 6-M12x24 | 170 | 23 | 46
MS150C 150 | 30 | 190 | 130 | 110 | 45 31 M30x3.5 | 45 | 274 | 168 | 106 | 169 | 56 | 26 |12-M12x24 | 175 | 23 | 46
MS200C 200 | 35 245 | 145 | 120 | 55 37 M36x4.0 | 60 | 288 | 166 | 120 | 183 | 69 & 34 |12-M16x30 | 189 | 28 | 46

SPECIFICATIONS:

MS105C 84 79 29 (2957) 20 6000 4.0(40.8) 0.8 0.0125 7.6
MS125C 120 113 42 (4283) 25 6000 4.0(40.8) 0.8 0.022 10.5
MF125C 120 113 42 (4283) 35 6000 4.0(40.8) 0.8 0.022 10.5
MS150C 174 160 60 (6118) 30 5500 4.0(40.8) 0.8 0.047 14
MS200C 312 290 108 (11013) 35 5500 4.0(40.8) 0.8 0.097 225

@Draw bar pull force: Pressure 4.0 MPa(40.8kgf / cmz)
@ Total leakage: Pressure 3.0 Mpa ( 30.6 kgf fem?) and oil temperature 50°C
@ Proximity switch: Model BESS 16-329-E4-Y ( BALLUFF) DC 12/24V 200mA NPN

SPECIFICATIONS:

NON THROUGH HOLE ROTARY HYbRAULIC
\CYLINDER ( WITH VALVES AND SWITCHES )

1.Through-hole for coolant, oil or air with thread for rotary union.
2.Mounting from the rear or from the front side.
3.Built-in safety check valves and bracket for proximity switch.

(The proximity switches are extra ordered.)

2-PT1/2"

K P
12 N
M
N T 5 5
J'W ﬂl 1
1 Rk
'“.]'j; “;_E 12
il 1
i @Bjni i
O o e S 1 AT
- .'_._..@;_ T SRS RSIESY
JJ & \
L M16xP1.5 " I \
== 9 i S H
Max.78
Min. 18 [
PT1/2" E
R \Q2

MS300C

DIMENSIONS:
MS250C [ 300 | 275 | 220 | 160 | 65 | 62 | 44 | M42x3.0 | 60 | 356|267 177 | 220 8 | 25 | 6-017 | 6-M20 | 226 | 160
MS300C [ 355 | 330 | 270 | 210 | 75 | 70 | 50 | M48x3.0 | 70 | 359|270 182 223 | 85 | 25 | 12-217 | 12-M20 | 229 | 165

SPECIFICATIONS:

MS250C

250

481.5

453.6

227(23147)

214(21822)

60

2000

50

0.87

78

MS300C

300

697.5

658.6

262(26716)

247(25186)

60

1500

40.8

1.60

106




PRECISION AND POWER.

SPECIFICATIONS:

NON THROUGH HOLE ROTARY
HYDRAULIC CYLINDER

1.Compact,low inertla,light weight cylinder:
Manufuctured aluminium alloy,this cylinder is lightweight design and reduce
the weight on the machine spindle.

2.High speed:
This balanced design cylinder is light weight and compact and maintains
outstanding stability during high speed operation.

3.Long life:
High quality cylinder seals and high accuracy surface finish on parts ensure
the long life of these cylinders.

M
) A
L WA m
- = E N N RS IEOIR IR,
) Y
|_
PT'N2"
Drain Port ¥
i
2-PT'N1" 4
Pressure Port

DIMENSIONS:

MH80 | 8o [115 |90 65 25 45 | 30 |6 | 735 103 MS’;;-% M16x2.0x32 | 38" | 14" | 45 | 155 | 305 | 38 13
MH100 | 100 |135 (100 80 |25 45 | 25 |6 885 103 M5 | miexeoxa2 | 3@ | 1| 45 | 155 |05 | 38 | 13
MH125 | 125 (160 |130 | 110 |30 51 | 26 | 6 | 955 | 103 M121’g-75 M20x2.5x32 | 38" | 14" 45 | 155 | 305 | 38 13
MH150 | 150 | 190|130 110 45 | 50 | 20 | 6 | 107 | 108 | MZLTS | maoxasxa5 | 8 | 14" 45 | 155 | 05 3B | 13

SPECIFICATIONS:

MH80 47.7 42.8 13.9(1417) 15 6000 35 0.005 5.1
MH100 75.4 70.5 22.9 (2335) 20 5500 35 0.0125 6.6
MH125 121.1 114 37 (3773) 25 5500 35 0.02 8.4
MH150 176 160 60 (6118) 30 4000 40 0.047 10.4

" SPECIFICATIONS:

BORING MILL JAWS

1.Clamping of workpiece for larger size lathe,vertical lathe,die set with jig.
2.0ne set of 4-piece bolts with T-bolt.

97

29 |

170

14

215
50 , 80
‘Stroker
HB4-160 i [ ;
SPECIFICATIONS: = ( 1
Jawstoke @m| @ g [[TD) iz
Max. gripping force (KN) [ 39.2 : i I I ! I
|
weight kg) | 29 } | | | ' |
I | . [ D ! | [l
! |
145 ]
i 225 B
210
70 70
50
Stroke
HB4-189 < { § ]
SPECIFICATIONS: © t )
e )
2 - - '
Max. gripping force (KN) | 39.2 (@) “:IEED] _B
| .
weight kg) | 3t i | | ] | |
[ | L1
ik ] K
L 3 ] |
=]
145 .
' 225 '




INGHOLD OF PRECISION AND POWER.

AENET

SPECIFICATIONS:

HIGH SPEED AND LIGHT WEIGHT
TYPE STRONG FINGER CHUCK FOR
_ALUMINUM WHEELS

SPECIFICATIONS:

HIGH SPEED AND LIGHT WEIGHT
TYPE STRONG FINGER CHUCK FOR
_ALUMINUM WHEELS

1.All sliding surfaces are hardened and ground and ground for accurate actual
running and long service repeatability.
2.Mounting:

Adaptor mounting to fit with DIN, ISO, BS, ASA, B5-9 typa A spindles.

1.All sliding surfaces are hardened and ground and ground for accurate actual
running and long service repeatability.
2.Mounting:

Adaptor mounting to fit with DIN, ISO, BS, ASA, B5-9 typa A spindles.

© _ﬂ
§ [}
ﬂ.‘
[aY]
M50xP1.5 @_L
o
3 — T
M50xP1.5 a | bl
) 1 0| @ o
— R e I -
\ al E| 2lsls —— %
0| @ Tt 8 ==r =
2 I g @ — f |
g t % o & += | e E_'t
Sl s YoBy | T
— 50
T | _ [— 3
— =
N XS S
o |
5 50
=}
Max.90 Max. 90 i
Min. 55 151 Min. 55 151 I
SPECIFICATIONS:
: ' : — SPECIFICATIONS:
F52A8 12"~18" 521 A2-8 3300 2800(18"2200) 98 MS200C —— : :

F61A8 13"~22" 610 A2-8 3300 1500 145 MS200C




INGHOLD OF PRECISION AND POWER.

AENET

SPECIFICATIONS:

HIGH SPEED AND LIGHT WEIHT
TYPE STRONG FINGER CHUCK FOR
_ALUMINUM WHEELS

1.All sliding surfaces are hardened and ground for accurate actual running and
long service repeatability.

2.Mounting:
Adaptor mounting to fit with DIN, ISO, BS, ASA, B5-9 typa A spindles.

1.The chuck can attract the work and hold it on.
The jaw operates in two stages: fastening —drawing in, so it can hold the work exactly on the locator in front of the chuck, and
make it under the stabile situation.
2.The chuck can grasp the work on both outside diameter and inside diameter.The chuck can switch between outside diameter mode
and inside diameter mode by a simple operation.

~—

SPECIFICATIONS: -
3-JAW BALL SWING LOCK CHUCK

3.The chuck can grasp the part of the taper.The chuck can exactly grasp the black surface of the cast irons, which has draft. So the
discard process can be ignored on the chucking part of the work.(It can grasp up to a 20 degree taper when using a clipper.)

4.The jaw can equalize.The jaw can equalize on the outside diameter, so it can grasp the work steadily.(Jaw self-equalizing to max 5°)

5.Dustproof performance is excellent.lt is different from a past general purpose chuck. It is structurally dustproof. Especially there is a
dustproof seal in the part of lock arm to prevent the dust.

701
M : 57.1
5 5 29.1 66.9 S &
‘ ]
l ! - -l
@ | |
T = d! I 5
| [
2«
o 2 r
M50xP1.5 < Max34 3 & | 1|
q D
=Y Min, 17.5 j |
| | |
3 = \ o
— [ M
1 M2 | | |
0 (o] T ﬁ 1 1
| = / [=] O T |
e <l 8| 2 — o
ol Bl olglgl || 3§ 8l o[- _ i _ ) _ - -
SIERSY a RIRSIRSTENY [ 2 = ~
{ E= ;@ i E~/ o E} § 4
L [ |
-
3 50 25 , ' , 4
/ '
6-M16 e ’ %
1
5 15° 15°
105
Max.90
Min. 55 151 |

SPECIFICATIONS:
SPECIFICATIONS:

MS150C

19"-24" 660 Ao-8 3300 1500 182 MS200C BL-12 17.5 12.4 40.7(4152) 122(12440) 2.8(28.5) 2800 65 0.18

F66A8




PRECISION AND POWER.

SPECIFICATIONS: -

3-JAW DRAW DOWN POWER CHUCK

Draw Down power chuck feature of radjal gripping will lead to almost no work piece uplifting displacement; for machining
casting and forging parst:

1.For the gripped work piece is appressed to the surtace, chucks are suitable for heavy machining.

2.Chuck Actutors with cylindrical structure are durable and ensures high gripping repeatability.

3.Accurate self-centering and pull back features are adequate for precise length control machining requirements.

Max. 56
Min. 46

Max.%S - = B
Min. 23 Q.H__ |
M20 Fi
=1 £
, AN ‘1 | £
7 -
o O o ~
S5 ES - = = - =
ISR S
I
g

8

4]

1)

15 i
__._|___..___

6-M12/

=25 |

90

SPECIFICATIONS:

DR-08 10 7.2 25.4(2593) 45.4(4630) 2.5(2.5) 3000 25 0.035 MS125C

SPECIFICATIONS: -
FLOATING PLATE CENTER CHUCK

Suitable for easy one step cutting of thin hores, plate and outside diameter.

L =
Y r Bl Max.77
o e —— —-—-———-—-—*—--Jf- Min. 42
A ; - >
o I ’ J A0
s 2 ’-—~
- o |
2 A . O
= = Min.10 " o
@ S| P e 5l 8] 8BS
— B = = — - — = =
S g 8 r/ Q| 8 ®
I ,
. ‘ B i - )
L —— =l
:/ =]
I -
v s
ll:l
" 187

Possible processing range.

SPECIFICATIONS:

P165 35 1.0(10) 6000 18.5 0.02 MF125C




ISION AND POWER.

-CIEIC

3-JAW EXTRA HIGH SPEED THOUGH -
HOLE POWER CHUCK ( WITH ADAPTOR)

1.Possible 10,000 r.p.m.highest speed chcuk.

2.Model HN chucks are assembled with adaptor for ASA B5.9 type A spindles.

3.Model HN chucks are manufactured form high grade alloy steel, All sliding surfaces are hardened
and ground for accurate actual running and long service repeatability.

GRIPPING CHARACTERISTIC GRAPH

(163)2210) Buiddun

2000 4000 6000 8000 10000

Rotation speed(r.p.m)

SPECIFICATIONS:

o v | s om0 mamer | o w05 owo | roiom we

55

56



